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1. In one day, Sue can change the oil on 20 cars or change the tires on 20 cars. In one day, Fred can change the oil on 20 cars or
change the tires on 10 cars. Sue ’s opportunity cost of changing oil is
than Fred’s.
2. Suppose that a typical German factory can produce 20 cameras or 1 computer in an hour, and that a typical American factory can

than Fred’s and her opportunity cost for changing

tires is A) greater; less B) less; greater C) less; less D) greater; greater

produce 10 cameras or one computer in an hour. Germany wishes to purchase computers from the United States in exchange for
cameras. What is the maximum number of cameras per computer that Germany would be willing to pay the United States?

A) 10 cameras B) 20 cameras C) 1 camera D) 2 cameras

3. Business people often speak about price elasticity without actually using the term. Which statement describes a good with an
elastic demand? |

A) “A price cut won’t help me. It won ’t increase my sales, and I’ll just get less money for each unit.”

B) “I don’t think a price cut will help my bottom line any. Sure, I'll sell a bit more, but I’'ll more than lose because the price will
be lower.”

C) “My customers are real shoppers. After I cut my prices just a few cents below those my competitors charge, customers have
been flocking to my store and sales are booming.”

D) “The economic expansion has done wonders for my sales. With more people back at work, my sales are taking off1”

4. Suppose Clyde always eats ice cream and chocolate syrup together. If the price of syrup increases by 10 percent, and the cross
elasticity of demand is -2, the demand for ice cream ,

D) decreases by 20 percent.

5. As Mary’s income increases by 20 percent, her demand for tickets to National Hockey League games increases by 10 percent.

A) increases by 5 percent.  B) increases by 20 percent. C) decreases by 5 percent.

Mary’s demand for tickets is income ; for Mary, hockey tickets are good.

A) elastic; a normal B) inelastic; a normal C) elastic; an inferior D) inelastic; an inferior

6. The latest model car in the dealer’s showroom has a sticker price of $35,000.00. Fred, the shopper, has decided that he would

pay no more than $32,000.00 for the car. After two hours of bargaining with the saleswoman, Fred actually purchases the car for
$31,000.00. Fred, therefore, has obtained a consumer surplus of

A) $35,000.00. B) $32,600.00. C) $4,000.00. D) $1,000.00.

7. Farmer Jones knows that the opportunity cost to produce a bushel of tomatoes is $5 per bushel. He also knows that a consumer
is willing to pay a maximum of $9 for the bushel. The price of the bushel is $6 and Farmer Jones sells his bushel for $6. On this
A) $1. B) $3. C) 85. D) $6.

8. Suppose the marginal propensity to consume is equal to 0.75 and there are no income taxes or imports. If prices remain constant

bushel, Farmer Jones earns a producer surplus equal to

and govemment purchases increase by $10 billion, what will be the change in real GDP?
A)$8billion  B) $2 billion C)$10billion D) $40 billion
9.

Interlace, Inc. produces and a unique soda. The company cannot price discriminate.
The figure on the left-hand side shows Interlace’s demand curve, marginal revenue curve,
and marginal cost curve. Interlace’s profit méximizing level of output is

A) 30,000 bottles. B) 50,000 bottles |

C) 100,000 bottles D) 0; that is, the firm shuts down.
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The figure on the left-hand side illustrates
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120 A) a recessionary gap. B) a full-employment equilibrium.
C) an inflationary gap. * D) an equilibrium at the economy’s physical limits.
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1. FEEEAHIZ HE GDP (real GDP)SIRE-EYEBE(CPDIIT ¢
LIEE 95 £ 55 - BBl 95 4 real GDP=3.30 JkiT ; BB 96 ££ Real GDP=3.52 Ykt » CPI=101.80
B 97 4F Real GDP=3.27 JK3T. » CPI=105.39 ; B 98 ££ Real GDP=3.57 JK7¢ * CPI=104.98

(1) BELUE'E GDP (Real GDP) » BHHEERE 96 ~ 97 ~ 98 £ » BEZRBEWHER - (9%)
(2) FLUEBEDEREHEECPD  HHERE 9 - 97 - 98 & - EEEEBEHEBER - (9%)
(3) (@ W—EBET "EREYBWE LR WIEE ? (3%)

(b) EREER TEHEYBWEEE BREEZEA ?(3%)

(¢) IEERPIRERN " ERiEs BEER ) K TR BREIE, ?0G%)
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3.65 500

5.20 450

6.80 400

8.40 350

10.00 300

11.60 250

13.20 200

BREEBARBERAREE  HRANTER
ER B B SL N PIGER AR
FaE) Gr/E38hn—58) U/ GT/5)
200 640 7.80 12.80
250 7.00 7.00 11.00
300 7.65 7.10 10.43
350 8.40 7.20 10.06
400 10.00 7.50 10.00
450 12.40 8.00 10.22
500 20.70 9.00 11.00
R () SEEATHERA? %) (2) EEERERRN? (%)
) BREEHERRM ? (%) (4) BEERREYREF N EEREBREM ? %)

3.2007 £F 8 A 2RERBRIAINKRE - WAHELEE 2R - ZEPHEG Fed) KIBLIRA 2 EBBORER ARG -
(1) B EERITR Y AR BRI REBBER 7 3%) (2) BRCRATERABITRERNE ? 3%)
(3) BATIE R e BRI 7 (3%) (4) AFATRERIEEATEST - HEEEREE? (3%)

4. BERH TS E A EERTRE -

“Textbook prices have been rising at double the rate of inflation for the past two decades ... [and] nearly 60 percent of students
nationwide choose not to buy all the course materials. ... For students working to pay for school or for those whose parents sweat
every increase in tuition, book prices can be a nasty surprise. ... And plenty of students come up with their own strategies: Hunting
down used copies and selling books back at the end of the semester; buying online, which is sometimes cheaper than the campus
store; asking professors to put a copy in the library and waiting around till it’s free. Or borrowing, copying, taking careful notes
in class—and gambling that the exam questions don’t come from the text...

* Washington Post, January 23, 2006
Explain what this news clip implies about
(1) The price elasticity of demand for college textbooks. (3%)
(2) The income elasticity of demand for college textbooks. (3%)
(3) The cross elasticity of demand for college textbooks from the campus bookstore with respect to the online price of a textbook.

(3%)



